by L L (AL W=850 L4 T W=850LL F W=850L1 F W=850LLF  90~100
S6540 90~30
PBF~RAyE S E Z(SUS)
M4 X 20 |
. . 65 " = ) g
F Al (sUs) ; Ry FL—ILZHAL) mﬁ» 2]
M4 x 12(7 34 JL[E=2.4.5mm) 325 S6113PN ‘ ‘ ‘ ‘
M4 X 16(/ X)L [E=8mm) IS5 yMEAF v R | |
01_31 IP55CHD | | | | X
1= | X *
s Q F5RFHR1L(SUS) | | | | t X oz
[Te] ' X * T ol
o M4 x 19 | | | | EHE ¥
= HRBFrvT(AD | | | |
:i S1106PNC ‘ ‘
% B (AL : ‘ 3
‘ 1:126%(5P’:C T)LEE*(AL) lh lh lh lil : mi; vSL
SKS — % %k %k e | S %g,f, [ A —
(AL k 100 =
| XAAD a4 AL 70 s ° g E
i / S5545 SKS x A 90 X #E (AL MEX
40|/ 1|24.5 55 I LR/ B Z (AL \ ) \ 45 S5545
N S4040PN/S1025PNC Tadv b RILE —(ALD I ]
‘ * % % 50 Cpac &
| SKS JHA i “”% Hipia ,o,‘,g, N
ROJ 1 ) O 0 1! N I R =
. | JSRILEE Saqhh—(AL) a;ﬁﬁv + } - -
* T
i ¥ % ‘ t=2+4-5+8mm SKS* * x JCA o0 KSR7 > 71— (SS4004y %)
% E:F”E L ‘ KSR7 > h— (SS40043) 10051 E KSRS55AF
*
LI ’ | KSRSS5AF #AL=4000LLF |10 % AL=4000LF
" \ NAVETHZHL (P-SUS) )
‘ M4 x 13 FERAAM B TEEEEHE
‘ |z 1B(AL) INAURTHIRHL (P-SUS) FHLI S vAL XHEAL FRayERL (P-SUS)
! /| S1025PNC M4 x 13 BKT31130 S5545 M4 X 25
! Wz (AL XAEAL) MéRyTHyhAL)  FILSEAR(AL) FHLIT S vhAL) KSR7 > :—(SS4004v)
| 4 S1106PNC S5545 68 RJLEM6 x 20 SKS— * * % BKT31130 KSRS55AF
5 R ‘ T# (AL KSR7 > 51— (854004 ) IRV 130 M7y 7+ v (AL) EfEEtvh(AD
i / S4455PN KSRS55AF t=2-4-5-8mm 20 90 20 FNAMRILEMG X 20(SUS) / PMP75WHA+PEPCHA
" " = L E
8 ' S| HHLISTYRAD 45 45 a5/] /Tl YRR 7 h—(SUS)
I BKT31130 ! IN78 / SGA-M8.”M8 X 35
2 - - Y - S N A 2 s\ :’@; TURF vy T e
~ [fe] i q
= PS55EPG & o L /. gy:{ I R LI Y : S6540ECP
S TILZER (AL — N S | | O — | — D — oy —
! N : —F = jiks of= =i R
N S SKS— * * % ey ———— s — il - ————<s— et
wsL | ¥ il X A o _ _ o .
- ISR A0 AR FRAD | /SHLi R AgaL FyTL—AD | FSREVELT (SUS) | HEARTURFvyF (AL
© IP55CHD S4455PN  S4040PN/S1028PNC S6540 M4 x 19 H SKS * % ¥ WMCA—R./L
T ARFHER(AL) ISR LW % gc ISRILW % BRYSWL—oY
KABMBGRF * * ZA 10 25| 15(|[15 | 25 25| 15 (K T=E)
l:o‘/7‘/j3—(1:7|:|) . ‘ H, 3 o R ]
TH#LTE 2 THLTE 2 THLTE 2| TRLYE
M8 X 70(3y +378) | Il
ISRILIREW 15 INRLIREW 15 INRLIREW 7.5 |[70~80| |20
STEEIE SR 1805K B (L80mmT L h— L E A, W=850LLF W=850LF W=850LF 90~ 100
gTIE I*ﬁﬁ X/If%"\,EEI:"‘V?’-(iK?ﬁi?ﬁE(ZJ:Ui@")i?} E'ZEE*%H ngi*:_l-fjalr‘y'\'i?j_j:/ay—cj—o
=]
AN — 2 & B g I%4% — O N B B R B &
/ ;n§+ ﬁﬁ (I -
ﬁ | % | | = ﬁﬂﬂ*i#/b W By | @\ | R |TER
ﬁ . 2 =% 88 % % LR FEEEE 8 R (A3)=1/8,1/25
A _— B i@ | | Ty T 1B AL KL-PN-0S6540-SR

#5E B :2006.12.07

HEH: 2010.6.22

DOPPOPOPDOOD

#-033



